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By which letter, the people who live in
joint family but are neither married nor
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In the following question, a word has
been given, followed by four other
words, one of which cannot be formed
using the letters of the given word. Find
that word.
APPLICATION
(A) POLONIA (B) POINT
(C) OPTICAL (D) ANTIC
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A cuboid shaped wooden block has 6 cm

length, 4 cm breadth and 1 cm height.
Two faces measuring 4 em x 1 em are
coloured in black. Two faces measuring
6 em x | cm are coloured in red. Two
faces measuring 6 em x 4 cm are
coloured in green. The block is divided
into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm
(from 4 cm side).

How many cubes will remain if the
cubes having black and green coloured
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A puzzle enthusiast is trying to

remember a code to unlock a mysterious

box. He recalls the following details : I

l.  The code starts with 3.

2. The code ends with 729.

3. The second digit is twice the first
digit.

4, The third digit is half of the second
digit. |

Now, considering these conditions, the

enthusiast has narrowed down four

potential codes for the mysterious box.
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In the question below three statements
1 d by two I bered 1
and II are given. You have to assume
everything in the statements to be true,
then consider the two conclusions
together and decide which of them
logically follows beyond a reasonable
doubt from the information given in the
statements.
Statements :
Rabindranath Tagore wrots many
poems.
IL Every poet has  asethetic
knowledge.
1L Aui;meuc is a part of axiological
s
Concluslon_u
1. Rabindranath Tagore did different
axiological study. 3
1 - the base of logic and
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mﬁmﬁm
it oia | el 92. THREW HFERmMEAE?
wiRE R AEem (B) smfinfm |, (A) Il (B) =g
(€) 3= (D) wm-9g . 7 (C) arEmA - (D) e
e GL-4
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1.2 1 a:’h'" 13 1301 39 woR
93, & HIfT : 15@*){"2“5*— 5
As5ar o - THfE R Ty, 9 et
Simplify : 108 +36x 7 +5x7 SO;L‘: “TRE, A 4% Wi
(A) 6/5 1720 31 BRE LR AR
(C) 45 (D) B2~ -,
94. "ﬂ'—lmm‘l- . : ;A‘/ 1de T 301  between Mihir ‘and
5.061 +3.98 +0.7034 + 7. LA™Y Diptesh, so that the amountiof! Mihir - £
?vo%lﬁtes 98407034 v 7 years is equal to the ammmt of

M fRrs s fRuesm o s

{ the ratio of 35 If fowam fara 2 9 P

d" from each, the new

n the ratio 9:17. The Abhishek, Bimal and ChmZn-y mz?n
15

. partnership. Abhishek j tim

0 (C) 24 (D) 12 much as Bimal inves dBQDaJ jlz
0% B, @ B, (A + B) &I 2/3" of what Chinmay\i t the

, end of the year, pmﬁt earned is
A'ls 25{}% ofB then B is what pcrucm ¥ 5,500. What is the share. ofChmmay ?

of(A+B)?

,,m; 22,500 (B) 21,500 y

(A) 40% (B) 283 7% (() T 1,000 @j_ % 3,000

(©) 66%% (D) 33—% .mma@aﬁés%%mﬁtﬁm
338§ | e I8 T/ 20% HH W B g 3

A) m’r;‘ammrﬂq@‘gqgf T T 12.60 F1 F A1 g, T I 30% H

(B) 9R3MTY ik

' b s T 1 | TR T Y e [

(D) ?ﬂammgvmsé
The number 323 has \@(\; ?(
)
L

@ A man sells an article at a profit of 25%.
If he had bought it at 20% less and sold it
for

SeAr

ss, he would have gained
Fmd e cost price of the article.

60 (B)Z50 (C)T55 (D)T45

(B) Four prime factors
(C) Two prime factors
factors
AL

Diptesh after 9 years, the interest. bemg.' -
ompounded at 4% per annum, What i is

part of Mihir 7

(A) T676 (B) %620 -
L(©) T653 A ) 6
. i, famneh fdm ed

.
# & | e, Feands frdn B s

¥ H, yﬁam?:sson%lﬁm::anff

o

«°

i
hg/
%/

Ogd@ﬁrom‘"ﬁbtp Ll

el (@

105.

@ (

";}%

= can do it in 8 days. With the help of

0B

S

Wﬁm:soo%ﬁiﬁ@m /6. 107 R 111 ; FrefiRea diic 1 s
%lﬁiﬂaﬁ%ﬁ@ﬁg:ﬁm% aiaﬁzaﬁ%ﬁmé: L -
FHFAT S a2 | | Tl =t Hﬁa’mqﬂm
‘@qn:aa I3 Rl Hqp o ¢ (3900 O TR 3R el g e wfteart
AR | T e afeorer & sReRea 2 1
1 few I QNos.lmom smdymefnuawhgmblem
Mohan and Shyam undertake to do a |answerthe

piece of work for T 800. Mohan alone
can do it in 6 days while Shyam alone

Ramesh, they finish it in 3 days. Find the T / State | ¥/ Year “w\q°
share of Shyam. 200~ [0 2002~ |\ R
(A) 2375 ® 30 95 a'fa! T e | L‘f
[ p. | Qual. | App. L

(©) 325 {0) 250 A 5000 70\ 830077, 9

1220025, oiics 135 ﬂﬁﬁﬁﬁmﬁqa ) 2 z ;20& 9200 [ 11ithg

Jow;many terms are there bctween D 000 | 960 32000 1250 |~
15,20,95,.......,135 7 E 7500 | 860 7700 950 [
(A) 26 B) 24 T/ /Y

C) 25 (D) 23 ls @2,{5 A T4/ Year . :

‘5;\'5 al 2003 2004 2005
mmé‘smw%mw B IE e S e =g, 3((
H nal. . ual. |
Wz.a%lwwmﬁiomz DY A | 72000y S0l 7060|800 5300 1106 '
St e B | (3400 F950] To500y o 1000

2 mﬁﬁ ™ I 6”“ o C_|_7600] 8550] 1 700

A lawn is in the form of rectangle having i D[ 8600] 1000] 9800|°1210] 8900] 1000 9(:&"
sides in the ratio 2 : 3. The area of the lawn E 9600] 1300] 7600| 940] 7980| 80| T.’-/a
is 600 m?. Fmdmebrc(aﬁd)t]ptmelam. 07. ﬁqmaﬂ%éﬁmmbﬁmﬁw
Z (A) S0m 20m ! et Irfteant 1 sltea w R 2 ¢
(©) 40m () 10m o What is the average of candidates who &4/ _
qauﬁhmmgoorﬁaﬁﬁhzﬁqz ﬁ-omstate[)dunn%megwenym

30 ¥ 99w R | Wnfew \ 0 D§ 8710
ﬁtﬂmﬁﬂﬁiﬁﬁm% ? Zo

2 min 30 sec. What is the speed in

of the cyclist ?
(8 216

(A) 87
C) 186 (D) 1.67

w3 H & gt veeh & A ik
it & ot i T & | 3R i semei @
66 %, T T B we A il |

Of the three numbers, second is twice the
first and is also thrice the third. If the

average of the three numbers is 66, find
the smallest number,

(A) 24 (B) 54 (C) 72 (D) 36

Number of cand;dates appeared and
in a competitive examination Tmm
states over the years are mentioned in the tablc

\L

ﬁcd\_\‘

3ﬁmﬁq?arm‘i '
iﬁgﬁamﬁ Eal T
7 e

;l‘he approx:mate percentage of total-
Mumber of qualified candidates to the
total number of appeared can

among all the five states in 2003 js
(A)18% (B)15% (C) 16% 12%
109. 2001 ﬁmwgm%
%{w 2002 1 @ft T | I Wgwﬁ
T e e TR & 2

hT TITHIT
Total number of ca.nd1dat¢6 qualified
from all the states 'in 2001 is
approximately what percentage of the
total number of candidates qualified from
all the states together in 2002 ?

(A) 82% @B 76% (C)80% (D

(A) No prime factors

(D) Thr
E';"i,'.ﬁ""' """‘“{ﬁ
& T
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-0 xso0  le=Clning

Foe-o 2

: 2 fare ad 7w C A 3UTRA
1% Ewmﬁ-ﬁ a wer § 3 b

Fufzanti & wiwwra Sfwa 8 2 3
;m p:t?c?centage of qualified’
candidates ? i

(A) 2005 B)

/ it}
B F+D+G+F
¥ (D) E+F+D

P FE YR,

6%:243=7
- If°=* stands fo?lﬂivision, '+’ stands for
! multiplication, ‘~+' stands for subtraction
and *x’ stands for addition, then
18x36—6+2+3=7

18 (C) 8

118.

Boueth 'V £
A100se the venn dia whi
«plains relationship am%;aénﬂ] < g]lﬁl;n I:Jest 15

uman beings, Rats, Doctors

P ~#1) NATIONAL ¢
< (16, pieril o1 9 w1 2 v Sagen §

117.

~ given figure (X) from amongst the four
. alternatives. : '

- -

ﬁ_e...

T A, U U Ry 2,
; ! 17 g femm B ﬁ!ﬁﬂf&qnq
W ST o wET wT T TH g g7
T HFAR | R TABRG ) o
In the following question, one word is
given, followed by four words, one of
which can be formed using the letters of -
the given word., Find that word, el
DETERMINATION P@R ﬂ)@

7
(A) TERMINATED @\' S0

{H) DECLARATION P\?d:% Dy
(€, DEVIATION e
A-mR

e w2 e shfirs w9 9 T 9 W g
T 7
Which one set of letters when

sequentially placed at the gaps in the
given letter series shall complete it ? E@

YR s}g&_vnp_oﬂ_eswpfﬁgs /i

(A) OSPSRQ  (B) QSSPRQ
(C) QSRSPQ (D) QSPQRQ

fe e et & e W e

R 1 I B4 ;

Choose the correct altcmﬁ}. _

ongs. thep will complete the s =
m, 47,30,(7) " EEE H, '
(A) 17 (®) 13 (C) 15 (D) 1157
T foret 3 @ 4 i sl (X) @
gdv Bfa 94 |

Choose the correct mirror image of the

@O ©)

14

(A) (D

IVl SUR BTV 0% T TP A B AP AT SO P T

® @

AL

B

Y £

X

i
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119. B(i -AGDY : : l)amz:cﬁ?)—"‘-*
(A) CAGH (B '
(C) HGCB (D) CBGH

120. Fraferfas st 3 fra B € 2

How “many - triangles are there in the
following figure ?

s [4{$\&
(A)23 ®B)21 (C)22 (D) 20
T =ats WY yfgaw st 3R 6 forrt wremar
2, T ol ggan 2 3R 11 et wreren R,
5t 2 Tz @ afte 12 et e &, g
o g @ af 12 Rt we R,
. EET R 3l 6 ffl weman @ | T =
. mAfFgiwd? -
@ 1= (@) 23wl
©)

121.

: 12 foft (D) 17 ot »
d A person moves from home position

towards west by 6 km, then turns right
and moves by 11 km, again turns right
and moves by 12 km, again turns right
and moves by 12 km, again turns right

is from home position ?
(A) 1km (B) 23 km
(©) 12km (D) 17km

19 R e 337 &, w weg-gm R w
2, 3u% =g e & w9 § 9 yre2-gm |-
foq m & | st 97 gm g @ R

g} % T WA WAy g | -

122.

ufy : GamgH
(A) feTsh : Bi&w (B) I FE |
(€ sm:feeft (D) wiwwsh ;¥

In the below given question, a pair of
words is given, followed by four pairs of
words as altemnatives. You are required
to choose the pair in which the words
have the same relationship.

Gland : Enzyme

(A) Brain : Cortex

(B) Generator : Current

(C) Organ :Kidney

and moves by 6 km. How far that person | ~

-

% f&e e w7 7 U YA aﬁt'm%ml.
123’ fmmﬁtwﬂﬁﬁiaﬁﬁmﬁgl
"8 oY 98 T T B 6 6 /R v
g 7 2/8 ok B TR S
“; ﬁﬁﬁmmgﬂ i
i | s T 14 T4 61 3G T Bt aei
3 e o & TR SRR
L e
% = @ A Dy
1L | E e R s
s AE R
& g & | TR TR g STE w it
Ay F0 % forg wata gHand et
. Bl | gEd ffaw = H gfg wl

) mnsmivegil
o A(B) Fad IR | £
© (C) FadlsRITeEaEl

(D) FAAIVASIEARlI
. Question given below consists of a’
- statement, followed by four: arguments
numbered I, II, IIT and IV. You have to
decide which of the arguments is/are

. ‘strong’ argument(s) and which isare
. ‘weak’ argument(s) and accordingly
choose your answer from the alternatives

given below the question. = .
Statement : Should education be made:
compulsory for all children upto the age

.+ of 14 years ?

o+ Arguments : TR 4
‘L Yes. This will help to eradicate the

system of forced employment of

i3 these children,

IL  Yes. This is an effective way to make

THBE the entire population educated.

II. No. We do not have adequate

infrastructure to educate the entire
* population.

IV. Yes. This would increase the

standard of living,

Only Il and I'V are strong.

Only II is strong,

Only I and II are strong.

(D) Muscle : Spasm

Only IV is strong.

(R I TV o e TR SO P T T
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(B) WEINEYS i WA ST |

Pownlzoades Fr om pr17sSs rtal .infa
125. m{ﬁw 127.mﬁ%ﬁmsaﬁﬁzr&naﬁaﬁq
T B 3T FH A 8% it # wfirer gam & 3K
._ mmﬁamﬁﬁmw ‘T&'ﬁ 7 %m%ma:sﬁmﬁﬂﬁimﬂm
: A - iR 6 22 g #it
ng%}m 9 oAl HEAT R | 7 w@ﬁtlaﬁﬁ%ﬁtmmﬁ
o g A #2800 oy st md @ e 3 W
Sfmawl | @ e i s et o | sw s & e st
il | Wm"-amm%&%mméﬂas mﬁén_ e il
. 3 - ST HHATE | e ST | { qatE
%ﬁwﬁ b el wew s H, el % e (B) = 7t o e | | . 2

o below o statement
assumptions numbered |
A given. You have to consider the
| statement and the following assumptions
~ and decide which of the assumption(s)
' is/are implicit in the statement.

tement : “Do not enter — avoid the
£ gemng infected with the ABC
—Wmtcn outside the quarantme

; ' Disease “ABC" is contagious

- II.. All the patients in ward no. 4 suffer
from disease ABC.

Neither I nor 11 is implicit.

Only assumption 11 is implicit.

Both I and II are implicit.

Only assumption [ is implicit,

W.H. 1258129 *ﬁ:z%rﬁaa IHFI B

IR R T T S % e ;
ﬁaﬁwﬁﬁamﬁm Fﬂnﬁﬁfﬁ%m e # |

(a)wﬁamm%mﬁ%:msaﬁﬁqftn
b)lﬂigmwz‘tq e auiaﬂt
( A Y 2
mﬁﬂﬁrﬂmﬁ\ﬁﬂﬁmaﬁml
(c)mmmmﬁ%mmqﬂm

(d) z 0,000 F} a7 nﬁm WA H B 4R
, 1 fTETy m IHT T W
a.l:mjrﬂdmm A PN S LTI AT A

36 | 35 mﬁ%m%wﬁﬁqmﬁlm
wmaﬂmﬁquﬁ ﬁm‘rﬁﬂaﬁ

Eicofkcol @Iﬁrwﬁm ?ﬁl% I ama?r
frmaferfiaa wedes e o Yew % afafem
mwsﬁﬁm | 78 aft TS

(forear) B_w{ﬁ@muﬂmﬂ@ FfeEmg |
(). Nos. T dy the following
information carefully and answer the questions
iven below ;
ollowmg are the qualifications for post in a
eputed company.
e candidate must-
(a) be an Engineering graduate with at least
60% maris
(b) be not less than 21 years and not more
than 235 years of age as on 1* May 2006. -
have q[msscd the selection test with at
least 55% marks.
be willing to pay a deposit of T 50,000,
*o be refunded on completion of training.
However, if a candidate 4 ﬁlls the above
mentioned criteria, exce
I. At(a)above, bm.gasa pearedforthelast
semester examination and has obtained
an aggregate of minimum 65% marks in
first seven semesters, his/her case may be
referred to the PrCSIdent of the company.
II. At (d) above, but is willing to pay an
amount of at least ¥ 25,000 and has
obtained at least 70% marks at
degree, the case may be referred to the
General Manager of the company.
In each of the following questions, etails of
the candidate are given as regards his/her
candidature. You have to read the information
provided and decide his/her status based on the
conditions
provided. You are not to assume anythin
other than the information provided in each o
the. following questions. All these cases are

(c)
(d)

given to you as on 1% May, 2006.

LA TV P R TV PO I T T e n-vza«m

iven above and the information

(C) WETYEYsh I A1 ST |

(D) =g fomen 5@ |

Diptesh has appeared for the last
semester of engineering degree exam and
is hoping to score at least 80%. His
aggregate score upto first
semesters is 75%. He has just completed
21 years of age. He has scored 66%
marks in the selection test and is ready to
pay an amount of ¥ 50,000 as deposit.
(A) Tobe referred to Company President.
(B) Not to be selected.

(C) To be referred to General Manager.
(D) To be selected.

TTE 68% 3 H Ty 2003 # Sl uw
TEet St @ | Seitfatn <t fft wifier

126.

%ﬁﬂt%lmm%aﬁﬁ%mw

15 R, 19828 1
(A) mﬁfﬁﬁzaﬁﬁmml
(B) == El foran wmem |
(C) HEIWE ) S ST |
=g TR s |
ahi is an IT engineer passed out in
2003 with 68% marks. After getting the

engineering degree, she has done MBA
with specialization in Finance. She has
cleared the selection test with 60%

marks. She can pay the deposit of
T 50,000. Her date of birth is 15%
September, 1982.

(A) Tobereferred to Company President.
(B) Notto be selected.

(C) To bereferred to General Managcr
(D) To be selgcted

o

seven

FW F TG ITT BIEE RS F Ty |

Il & | 9 2 50,000 hi AT ||
TR 7 ST T | I R

(C) o Mrde i Worr wmem |

O =mfemsenm
Shyam has appeared for the last semester
examination of Mechanical Engineering
~ and the results are awalted. He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in
paying the required amount of ¥ 50,000
as deposit. He has passed the selection
test with 58% marks.
(A) Data inadequate.
(B) To be referred to Geneml Manager.
(C) To be referred to Company President.
(D) To be selected,

T I SH, 2005 F 79% IF® ¥ A™
*itmrer et f feft ga 6 T
=77 v § wim &, ﬁﬂﬁaﬂ%?ﬂ%@
aﬁ%maﬁﬁﬁﬁmmﬁmﬁhzs

128.

qﬁa%mw%mﬁuoooom
I SR o1 SFae weft | q
(A) Tamaiad ) }/5
(B) = 7 foan smam |
@/maﬁﬁmml
(D) =5 fepmn e |
Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983, She is not in a position to pay

R 50,000 but will arrange to pay ¥ 30,000
as deposit.

(A) Data inadequate.
(B) Not to be selected.

(C) To be referred to General Manager.
(D) To be selected.
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9.%@:?1%33“&‘“%'%2003
' ﬁzlmrﬁwﬁaﬁf&ﬂqﬂmﬁ“‘

i

) lmﬁﬁqﬁmﬁ%%maﬂtm
i 720 37 S P | T

3750 oooﬁtﬁmwﬂm’
(A) e e T |
(B) =R ¥ far ST |

(D) I 1 T T H0h WE HH
=1feg |

You are stationed as a police officer; a

distressed father approaches you saying

his 23 year old daughter has eloped with

her boyfriend. As per Supreme Court

directives, you should :

132.

Dovvnl oaded From : http [/ sscportal.in/

"‘[“”ﬁ*'rﬂ =9 H W E
A IedftsT &
& -y
: % ;.TR"T |
HERIEY AHER 3R IR
.»4.,]].1',1” Z | f!'mar%q
2 @] AEAAE arae ('aqé;) - 24
«v.qmﬁmwo?iraﬂ%m
EER ’:a%'@a? ‘iﬁﬁﬁ !
WWWWWI . i
EE & HAT (3 3R ngm S

TETTHA WEH T =R | ;

you are stationed as a pollce officer; 5t

v oreceive intelligence of an inter- '
lizious  couple facing  harassment
threats from fringe outfits.’ You should :

(A} refer them to protection officers
as per procedures.

(B) counsel the couple to avoid public
interactions.

(C) suggest their voluntary physical
separation.

(D) provide security cover and safe

transit for the couple.

1 ww gferm srfuedt F w9 § &

TR % EY A fER w1 e sk

gfes Hell 4 HEava® W9l g A

uyehl & 2 | 3R] i

(A) 39y #FeaTel AT %)
mtsgﬁﬁarnmaﬁql,g,

qmtrma)a‘laﬁaﬁ

?!‘ﬂ""

(B) :
(C) wwey EERIE] 31'%'." " ;

sra £ unfy S ﬁﬂl ‘Lﬁ?ﬂ
1571 = A e T = |
You are stationed as a police officer;
agitated labour unions ihreaten to stop
essential services over wage disputes
with management. You should :

(D)

;glf:c;e{;gglp]altﬂt to village council (A) impose fines and charge:s for
men : g &
illegal strike action.
(B) support  reconciliation without (B) ass%st dispute resolution dialogue
criminal charge if consensual, between stakeholders.
(C) arrest the boyfriend on charges of (C) forcibly stop attempts to block
enticement, critical infrastructure. U
(D) file a kidnapping case and (D) arrest union leaders immediately &
— mvestzgateq ) for disruption threats.
- ls Py A

133.

AR s sl F e ul@' !
A T R foret & 7 s e |-

135
# | 3177 o ot a9l @ S Rw § v
mﬁzmﬁmﬁﬁmm%;r = @ § 3k wra @l 3w &
T ; A I H ,_WE;%_@L
(A) mﬁﬁaaaﬁﬁaaﬂ?fngm% '
Pigert (gwgian) F1 FHR w o f % ;“-" '
TR | mﬁﬁiﬁmaﬁ’rmaﬂtﬂﬁ%
(B) dranret & gt 3 Frery i w5 fimm m-a:m [
© %@qm mmﬂa[ﬁé#amr Wel : qﬂﬂﬁ
4 TEi'
k e wqmwaa"t wﬁw%ﬁﬂmm
i ot zrer TR d@aﬁqaﬂtmﬁméﬁnw
®) e 3 T T 200 o Wit 198 A & Iufig FE Iy |
ﬁmﬁﬁmﬂma&ql : Y o R o
You inherited investigation into (B) AN RS frm
corporate fraud by an industrialist who s 5 & w9 § EHR 6@ 9y
- then ‘offers a personal settlement and |~ aﬁgﬁﬂﬂﬂmﬂgﬂﬁﬂ%mm
- closure help. You should : ; T IR | P
(A) secretly accept settlement while C) Fedt ar= mtor m“m
declaring case closed ©
(B) commiit to investigate the fraud |- 1 win FE =R '\ﬂfm 9T
. fully and impartially i %W R I @S |
(C) avoid exanumngd any further [ (D) AW T HE B IFY BT
i I s ity S
(D) ;vai-tt‘ll;s:l:fugze y - mcmmnatmg' aﬂtuml 3‘1% S T gmmﬁﬁﬂ

134,

3

>

. evidences under legal scrutmy

I ﬁmmaﬁaﬁtm

! gagm & fore, o
(A) TR SeERin F wem A

AR Y2 = erEE FErEfR ] |-

(B) q@fﬁsﬁuamﬁiﬁrtmfﬁm
U =nfae |

(©) %zuwﬁ;rmwm

AR At 1 Ter HIEA (@er)

T =R | :
(D) fegw sy shema ar adft AN
el | qears e wiR |
You are stationed as a police officer; to
solve a series of undetected homicides in
your jurisdiction, you should :
(A) study behavioural patterns through
psychological profiling
(B) complete DNA profiling of entire
o regmnal population
(C) data mine CCTV cameras using
facial recognition scans
(D) question all existing convicts
with violent crime h1story

A

19
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You are a sub-inspector in a rural police
station. You have been working in the
same station for the past five years and
have developed a good rapport with the
local people and the administration.
However, due to a reshuffle, you are
transferred to an urban police station
where you have to deal with a different
set of problems and people. You feel that
this is a difficult and stressful change.
You should :

(A) accept the transfer reluctantly and
hope to get back to the rural station
S00mn.

(B) accept the transfer as a part of your

career growth and prepare yourself

for the urban challenges.

seek a transfer to another rural

station where you can continue

your work and interests.

request for a cancellation of the

transfer and cite your performance

and achievements in the rural
station.
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" news until

(B)

F fou sgem @
9
AT HTeh Hiet HEAT =Y |
J:»ersonatmn crimes, you should :
engineer any
© ts retrieved,

= e ox i
ST w1 feriyo e =tz |
B) faeh Wt m flsﬁm fore =i fad-
i s
SRR Tt R =R |
& amw Bewn % R dfed
w =R w9 A TEER B w5
(D) = 39 W 3RITF TR & w9
s = e
T e =it |
When investigating |dcnt:ty theft and
lyze IT
:g:.rﬁ;d undﬁsﬁgmgfs igolrlstggcl:;s
obtain court auﬂwmzl to reverse-
E:rsonally caIl victims pretendin
mt%"r\::e:nocn " e

(D)
as criminal buyers on dark web.

I UV A PO AN AT T 8 s AT N

STe |

bank

setup ethical hacking traps portraying

139.

GL-4

20

Dovvnl oaded From:http://sscportal.in/ __
[ ..:.'. g { | .
e q, - " -i# s
B SOt ey R
TR St 3 wnfe € | @ g
JEE g mmﬁﬁmmw%mmﬂh (A) 21 ) W.D.C- Do,
Tgd 2 A1 44 B i Eie o T 9 |4 o O
gizﬁi;ﬁu | R L = T 31 Srrerd § bl ! © S (D) o 2 ‘-
B) T+ T H o et 5y (A) ST A& Fmd suitable alternative in le of
© w3 e § 9T =R | (B) 3T - question mark (?).
() dfre sfoFil | Rem Srresa (C)' P amie ' Russia : Moscow : : Greece :(?')i
AT = e | (D) o g "(AJ Tokyo (B) WDC
3 Tt Afa-fams th s
} [T 5o HAT Wﬂ?ﬂﬁniﬂ:ﬁﬁn As a police officer, you are involvedina | £~ (C) 2 (B * At
As a police o?ﬁccr, certain relj lmlss criminal mvcsngatmn Which of the i ittosclt e 3;5 W*
stoms are raised denying g ual 'followmg is the name of the document 'lﬁi gﬁ?ﬂ
e ;[\ ri _fns for w\:}iowed dnrorce t you have to submit to the court after qfifs WM,
(A) l‘-(\h‘\]‘ﬂ[‘lﬁ? g g:u?ggtul‘lif norms 'completmg the investigatiori ? - arfiresrd w1 FEH W@ T
have been long ac d SRR (A _ Bail Application g R & 2
= u:r\ntmumly gf e A EB) Cﬁarggl:'Sheet ' mﬁﬁmﬁmmﬁ | m
fi t i
i minimizing delayugh track courts | (C) Arrest Warrant (A) SafsR s § =@ fige
(C> e istrict awhreniess campaigns (D) . First Infortion Report L s b @ Rge st )
i ol by
g el ‘ag’scustsg'mdma unfair 141. wERE wﬁm ®T FA A IR A | (@) fwr Ao 3w wged T
;&’m%;’fﬁ @mm A S T T & ? - R Prlrers R s =l |
"Fﬁ‘;m 'Fm?f E3 (A) 9wHH m fgé # T I () it frgidl (argasil) # amwe
ﬁmm&ﬁﬁlm : fufrdt ® =fa ot Foea A | fER ¥ R a3 (9910
®) TR F A 3 forg et & (D) R ST S guw T ae
(B) ﬁaﬁaﬁﬁﬁ%m@ oy fagar 3R areied g9 | ; : i WCWWW
ggzmgqﬁifﬁwﬂam (C) famardt & foru 2 ot et St 3= R |
| el Teh ST I9ENT HET | :
(C) wewifiar Ea D) s W IF % R gRw 6 As a police officer, certain - groups
(¥rfya) = & fere wgemEt (D) demand amendments in laws upholding
3% T =Ry | g R SR I | LGBTQ rights, against ~traditional
(D) T W Y G e 2 Which aspect of cf;mmunity policing religious sentiments. You should :
B R EFFE?»‘H FESOHRIES YOI [ost " (A) depute human rights commissions
i:(qm:{glfgu | H:I:I' (A) Rf;:isgonttliing quickly and > diictly engaging representatives.
li rtai S efficien to encies . .
e tain ot bﬁggcrcwo%eg y " deemed repatted b il cotumuty 5] G (femiaiivn s R
1(1‘:?&];I setﬁ?ﬁ?&iﬁd %%giilgilamt cells to (B) Building trust and rapport with v?:lg;ce T $
monitor lorcfxﬁ confessions. residents to prevent problems, : . . .
(B) enforce diversity quotas employing (C) Using advanced technology like (C) table community interactions
officers from marginalized tribes. drones “Tand . . camers i harmonizing religious doctrines.
(C) table meetings with communities to s K :
realign engagement appmaches i surveillance. (D) lead localized awareness
(D) implement counselling (D) Increasing police visibility and campaigns empowering inclusive
Programs to rorient tradiionalbeliet: patrols to deter crime. lifestyles.
; A - . LS TR S P TP S L T
M a 21 GL-4
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'q@

ﬁtggﬁﬂl

0t the correct alternative from the

q tw111 complete the series. 4 m*"\f ¥ T 91 ITAM T sy ) @ 2@
9,618, 545, (5;)4 (;?32 R g EmE Rt QU E p\
g (D) /5 ;4— (A) 383afus  (B) 2 SV ES
e ﬁ%ﬁ % o #, “ROM © 3 @ 1 A
m”%mﬁ%mﬂ%? % @ If a meaningful English word has to be
«“WATER” %l & fer@n s ? ,5(’@ formed using 1%, 3, 5% and 8% letters of

In a certain code language, “ROMAN” is
‘written as “IFDAE”. How Wwould

 “WATER” be written in that code ?
(A) AEBEI (B) EIBAE
(C) IFAEB (D) EABEI

"ty e TR W qE % AR 10 Foreft = g,
| et e & st s fht e 2, B
T e @ 3fR 11 Reft s 2, f @ qd
Tear @ 3k 5 et s 8, fw & HTQ

A person moves from home position
towards east by 10.km, then turns right
~and moves by 5 km, again turns right and
~moves by 11 km, agam turns right and
- moves by 5 km, again, turns left and
. moves by 1 km. How far that person is
" from home position ? i

~(A) 6km (B) 16 km

“(C) 2km - (D) 15km: |

. Fretfefen s & 95 v A § |
ﬁwaﬁ@wmmw—g;
9 57 & v =it gam 2 |
A = B) =
(© = ®) =

In following question, some. Words.:' are

given. They have Some common featy LA S

“except the odd one. You are required to

ded From : http: //ssc;portal
3!

T & 3 1 el e 2 Ia‘a’alﬁﬁ S |

n/

-‘Lf_
QL. < n

148.) afe “SO0V ‘NI%{” TR & e, diR,
qied 3R Ted & B I wE
HYH IS Tog T B (T e} 1

the word (each letter to be used once
only) “SOUVENIR”, then how
such words can be formed ?

(A) morethan3 (B) 2
{Cy 3 D) 1

149, T 9 YUE (noon) % FHY I I AR 2 |
. SR 20 e W, W i gd ym i A &

A clock is started at noon. By 20 minutes i
past 5, the hour hand has turned through

- (A) 160° (B) 150°
Wﬁh:ﬁ@tﬁ%?- BP0 15 D) s |
&/gg %igg /150, o w=H, T S v T el v § |

, W HT AT 7, R 9% A fing
T S7E AR H E | IR % gl
T &, s Seftesrd 379 a2 e
3 He € | ivarer of i o w35,
e B e E o o 3w | ety
g o of e w1 fgar 2 2 ;;f._._hf
(A) Wt (B) ™

©) i (D) et

Among her children, Ganga’s favourites
are Ram and Rekha. Rekha is the mother
. “of Sharad, who is loved most by his
| uncle Mithun, The head of the family is .
~'Ram Lal who is succeeded by his sons
~ Gopal ‘and Mohan. "Gopal and Ganga
‘have been married for 35 years and have
'3 children. How: 1s Mlthun related to

.'.,-,,,:,'-;,.,; W
i 0

find the odd one out. Mohan ?

(A) Bow (B) Quay ~ (A) Nephew (B) Son

(C)  Stemn Deck . _(C) Brother (D)’ Uncle
papee CEV OONPILATI TR AU P ey s o I PRI TV sy s ” R S o A L
Gﬁ T MWZ?W A A
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